L, 388

Ae/=

TRR27TEEEBRBIEL A—BRRTY - RIKIEY) - BB B O ST
= " WETRERE
nit*‘l'% **Hy E *ﬁll:lj*/(*i% (&7b)b/kg)
BRRSY H27. 4.10 +3 9/ —134 27
+9/\—137 78

=t 105
H27. 5. 8 31— 134 48
+9/—137 180

=t 228
H27. 6.12 +H.i—134 43
+9/—137 180

=t 223
H27. 7. 3 31— 134 34
+9/s—137 120

=t 154
H27. 8. 7 o L—134 19
9 L—137 100

=t 119
H27. 9. 4 o L—134 25
9 L—137 100

=t 125
H27.10. 2 o L—134 27
9 L—137 100

=t 127
H27.11. 6 9 /—134 24
+9/s—137 110

=+ 134
H27.12. 4 9 /—134 22
+9/s—137 110

=+ 132
H28. 1. 8 9 /—134 13
+9/s—137 74
it 87

Bt

H28. 2. 5 M L—134 | XAFEEBRLE

TBRIE 10
+9/i—137 36

Bt

H28. 3. 4 M L—134 | XAFEEBRLE

TBRIE 10
+ 9 /i—137 50

ERAERER



TH27EEERRRE 2 —EMRZY - RIKLEY - SR EY O KT RERERERER

= % ﬁéz%#ﬁ&;’%rﬁ
A4 fREn B BRHE%ESR (RAL )L /kg)
RIALEY | H27. 4.10 +9.1i—134 360
+9/\—137 1300
it 1660
H27. 5. 8 31— 134 470
+9/—137 1800
it 2270
H27. 6.12 +H.i—134 430
+9/—137 1600
it 2030
H27. 7. 3 31— 134 360
+9/s—137 1500
it 1860
H27. 8. 7 o L—134 270
9 L—137 1100
it 1370
H27. 9. 4 o L—134 270
9 L—137 1200
it 1470
H27.10. 2 o L—134 190
9 L—137 860
it 1050
H27.11. 6 9 /—134 170
+9/s—137 720
it 890
H27.12. 4 9 /—134 240
+9/s—137 1000
it 1240
H28. 1. 8 9 /—134 220
+9/s—137 970
it 1190
H28. 2. 5 9 /—134 150
+ 9 /i—137 710
it 860
H28. 3. 4 9 /—134 150
+ 9 /i—137 800
it 950
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Ae/=

TRR27TEEEBRBIEL A—BRRTY - RIKIEY) - BB B O ST
= " WETRERE
nit*‘l'% **Hy E *ﬁll:lj*/(*i% (&7b)b/kg)

BRI EY | H27. 4.10 29 1—134 11
£ .L—137 55
.13 66
H27. 5. 8 L —134 16
+3H1.—137 86
i 102
H27. 6.12 2 0L—134 10
£ .L—137 55
it 65
H27. 7. 3 +3H 1 —134 31
+3H1.—137 98
i 129
ST
H27. 8. 7 HL—134 | XATEBREH
TBEIE 10
39 /—137 29
Tt
H27. 9. 4 £ L—134 | XATEBREH
TBEIE 10
39 /—137 28
H27.10. 2 9 .L—134 15
39 /—137 61
&t 76
H27.11. 6 9 /—134 15
+3H1.—137 82
it 97
S
H27.12. 4 2 L—134 | XAFEEBRLE
TRREIE 10
+3H1.—137 31
Bt
H28. 1. 8 M L—134 | XAFEEBRE
TRREIE 10
+3H1.—137 23
Bt
H28. 2. 5 M L—134 | XAFEEBRLE
TBRIE 10
39 1.—137 43
Bt
H28. 3. 4 M L—134 | XAFEEBRLE
TBRIE 10
+3H1.—137 27
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